Answer Key

Part I:

If your company fills half the pool (side x) on the first day, what will you report the area of side x is to the concrete workers?
Area to be filled = 196 sq ft

How much surface area will need to be covered to do the entire pool?

Surface area of pool = 392 sq ft
Challenge:  If the pool averages 4 feet in depth, and 7.481 gallons fill one cubic foot, how many gallons of water will fill the pool?
392 sq ft x 4 ft = 1568 cubic ft
Total Gallons of Water needed = 11,730 (to be exact = 11,730.208)
Note: 7.481 gallons per cubic foot

Part II:

In order to do the landscaping, you need to figure out the area of one half of the yard (marked with a “y”) in order to give an accurate price for the grass that the owner wants planted.  Based on the drawing to the right, what will the area of half the yard be?  How much will it cost to do the entire lawn?
Area of half the yard  =  1400 sq ft
Are of entire yard – area of pool = 2800 sq ft – 392 sq ft = 2408 sq feet
Challenge:  If sod (rolled grass) costs $10 / square yard, approximately how much will you spend on placing grass on ½ the yard?  How about $7.50 a sq yard?  What about $4.32/sq yard?

At $10 sq yard = (1,400 / 9) = 155.55 square yards (x$10)  = $1555.50

At $7.50 sq yard = 155.55 x $7.50 = $1166.63
At $4.32 sq yard = 155.55 x $4.32 = $671.98
Students will need the conversion for square feet to square yards to solve the challenge for Part II.
Name:  ______________________________

Date/Period:  _________________________

6.G.1. Find the area of right triangles, other triangles, special quadrilaterals, and polygons by composing into rectangles or decomposing into triangles and other shapes; apply these techniques in the context of solving real-world and mathematical problems.
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Part II:�Once the pool is completed, your company has also been hired to do the landscaping.��In order to do the landscaping, you need to figure out the area of one half of the yard (marked with a “y”) in order to give an accurate price for the grass that the owner wants planted.  


Based on the drawing to the right, what will the area of half the yard be?  How much will it cost to do the entire lawn)?


Challenge:  If sod (rolled grass) costs $10 / square yard, how much will you spend on placing grass on ½ the yard?  How about $7.50 a sq yard?  What about $4.32/sq yard?
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Part I:�You have been hired to design a backyard�for a pool company.  Your company, Triangle Incorporated, pours concrete for the pools, half at a time, in the forms of triangles.  


If your company fills half the pool (side x) on the first day, what will you report the area of side x is to the concrete workers?��How much surface area will need to be covered to do the entire pool?


Challenge:  If the pool averages 4 feet in depth, and 7.481 gallons fill one cubic foot, how many gallons of water will fill the pool?
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